Multiplying With 11 and 12 (A)
Note: The second faclor has a range of 1 1o 12,
11 11 T 2 1 4 12 12 11 11
x12 x 4 x12 %12 x4 x11 »x 6 x 8 x 3 x B

11 12 11 11 12 3 4 12 3 1
* B x 2 x12 x12 x 6 x12 ®x 12 x 11 %12 ®

x10 x 9 x 9 x11 x 3 x10 x11 X 2 X 9 x1

12 11 3 1 12 12 2 12 9 B
* B x 2 x11 12 x 4 x 7 x12 x 4 % 11 %12

11 1 12 12 6 1 12 T 3 11
X 11 X 11 X 3 x10 xM x9 x 1 x 11 X12 X

1 6 7 12 1M 1 2 11 1 T
x 11 Xx12 x12 x12 x10 x12 x1N X 2 x12 xM1

X 4 x 7 x3 x6 x12 x10 x11 x11 x 7 x 8

10 12 12 12 12 12 4 11 11 4
x 11 X 838 X2 X8 x4 xM x 11 x 9 x4 x11

12 11 12 12 12 12 1 12 1" a
%10 % 4 % 6 %10 ¥ 11 ®x 4 %11 ¥ 9 %11 %12

1 6 1 9 1 5 8 4 5 12
% 11 * 11 x12 x12 x1 x 12 x 11 %11 %12 x* 11

Free math worksheets at www.math-drills.com



